Efficiency vs Dxy(PV)

Ratio
L O
T -

o
©
T

0'—45—20—15 l —5 O 5 10 15 20 25

TP dxy(PV) (cm)

[—— DQM_mKFIT_TTorgmal

—e— DQM_mkFit_TToriginal-106

—w— DQM_mkFit_TTNEWHSMS95_ALLITERS-106
— —— DQM_mkFit_TTNEWHSMS50_ALLITERS-106
[ Efficienc] —— DOM_mkFit TTNEWHSMS100_ALLITERS-106

q b . . e
o '!IIII 'l\l 'I #m |||H| Al ||' |||||
s
x 0.9 ’ h
0
078

—1—08—06—0402 02 40608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
E 0.1
X0.09g--
e}
£0.08K- -
3
20.07
2
o
£0.06
9]
0.05
0.04
0.03
0.02
0.0 v 4
0 : 1
I

0.9

Tleed

Ratio

'?
.._s:#'.—_.. ..E

osfft HEHATE-HHIN - - -HE

%730 20 -10 0 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
S 0.
o
%0.09]
=}
£0.08]
3
20.07
@
£20.06|
©

0.05

0.04

0.03

0.02

0.01

Ratio

osf-f--H--{iF

z(PV) (cm)



	Contents
	Page 1


